[image: image1.png]B.E/B.TECH.DEGREE EXAMINATIONS, MAY/JUNE—2011
REGULATIONS 2007
FOURTH SEMESTER
EE 1252 — TRANSMISSION AND DISTRIBUTION
ELECTRICAL AND ELECTRONICS ENGINKERING
Time: Three Hours Maximum:100 marks
ANSWER ALL QUESTIONS
PART—A (10%2=20 marks)
1. Give various types of FACTS devices.
2.  Define transmission efficiency.
3. Give the advantages of bundling of conductors.
4. Onwhat factors does the proximity effect depend on?

5. What is meant by surge impedance?

6. Give examples for reactive power consumers in any
electrical system.

7.  What are screened cables?
8. Name any four types of line supports.

9. Name the factors that should be taken care of while
designing and erecting a sub-station.

10. How does a.c. distribution differ from d.c. distribution?
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PART—B (5%16=80 marks)

Give the applications of HVD( system.

Explain the role of FACTS devices in
power systems.

Or

Explain & typical structure of clectric
power system with neat diagram.

Discuss technical and economic
advantages of EHVAC systems.

Explain the concept of self and mutual
GMD for luating inductance
of transmi n lines.

A single phase transmission line has
twa parallel conductors 3m apart, the
radius of each conductor being 1 cm.
Calculate the loop inductance per Km
length of the line if the material of the
conductor is

(a) Copper

{b) Steel with relative permeability
of 100.

Or

Derive an expression for capacitance of
a 3 phase line with equilateral spacing.
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A 3-phase, 50 Hz, 66 KV overhead line  (8)
conductors are placed in « horizontal

plane as shown in fig. 12(b) The

conductor diameter is 1.25 ¢m. If the

line length is 100 Km, calculate

capacitance per phase and charging

current per phase, assuming complete
transposition of the line.

Fig. 12(b)

A 3-phase, 50 Hz overhead (16)
transmission line has the following
constants:

Resistance/phase =9.60
Inductance/phase  =0.097 mH
Capacitance/phase =0.765 pF
If the line is supplying a
balanced load of 24,000 KVA 0.8 p.f.
lagging at 66 KV, calculate:
sending end current

line value of sending voltage
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sending end power factor
percentage regulation
Or

Briefly explain about shunt and series
compensation.

What are the various factors affecting
corona?

Each line of a 3-phase systen is
suspended by a string of 3 similar
insulators. If the voltage across the line
unit is 17.5 KV, calculate the line to
neutral voltage. Assume that the shunt
capacitance between each insulator and
earth is 1/8t of the capacitance of the
insulator itself. Also find the string
efficiency,

Briefly explain the methods of
improving string efficiency.

Or

Find the economic size of a single-core
cable working on 220 KV, 3-phase
system. The maximum permissible
stress in the dielectric is not to exceed
250 KV/iem,

Explain the methods of grading of
cable.
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Describe any one substation bus
scheme with neat diagram.

Explain the ring main distribution
system.

Or

Discuss in detail the different methods
of earthing in power system.
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